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The question paper is divided into two sections A and B.
Each question in Section A carries 15 marks and each

question in Section B carries 20 marks.

Attempt any one question from Section A and

any three questions from Section B.
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Section A
(T =)

Define the value of a commodity and the value of labour power.
How does surplus value get created ? Distinguish between

absolute and relative surplus value.
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Can the explanation for the motive for capitalist accumulation
be provided in essentially rational behaviour terms ? Can
theories based on ‘‘abstinence” or ‘‘waiting” provide such an
explanation ? -
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How is the contemporary imperialism of big business and
globalized finance fundamentally different from imperialism that
Lenin conceptualised ? What is the relevance of the term “‘super
imperialism™ ?
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Section B

(v @)
Elucidate how Marx applied the dialectical method to analyse
social transformation. In this context analyse the relafionship
between the economic base and the superstructure.
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What are the possibility and necessity theories of economic
crisis ? Explain the scope of state intervention in preventing
the occurrence of crisis in capitalism.
afds e ®t EwE’ olv afed” fagi w=n
£ 7 yofter # wee Framw # T THAT H TSRy
F AR

P.TO:



(4) 8110

Explain the "internal dynamics" of capitalism that arise from the
logic of its functioning. Explain how capitalism accomplishes the
central task of organisation and disciplin.ing of social activities.
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What is meant by “‘creative destruction” ? Explain how
Schumpeter justiﬁe.s monopoly practices in the context of the

- ‘‘perennial gale of creative destruction™.
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“The fact that (perfect) competition is not compatible with
modern, technologically advanced production is by no means
tantamount to the proposition that monopoly is a rational
framework for development of productive forces.” Elucidate the
above statement of Péul \Baran. Does this mean that Baran

preferred competitive capitalism to monopoly capitalism ?
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Discuss the role of ‘primitive accumulation’ in the evolution of
capitalism in Western Europe. Do you think a phenomenon like
primitive accumulation still plays a crucial role in the contem-
porary phase of ‘capitalist globalisation and crisis ? Explain.
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Explain Kalecki’s analysis of bus;ness leaders’ opposition to
maintenance of full employment in capitalist democracies ? Is
this analysis different from Marx's concept of 'reserve army of
labour” ? :
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